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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Analyse the population problem of India and evaluate 

the present population policy of India.  

Hkkjr esa tula[;k dh leL;k dk fo’ys”k.k dhft, ,oa 

orZeku tula[;k uhfr dk ewY;kadu dhft,A  

2. Explain the main characteristics of Industrial Policy of 

India. Do you think that they are adequate for  

economy ? 

Hkkjr dh vkS|ksfxd uhfr dh eq[; fo’ks”krkvksa dh O;k[;k 

dhft,A D;k vki bls Hkkjrh; vFkZO;oLFkk ds fy, mi;qDr 

le>rs gSa \ 

3. Write an essay on agricultural development in India 

during planning period.   

;kstuk dky esa Hkkjro”kZ esa d`f”k ds fodkl ij ,d fucU/k 

fyf[k,A  

4. What is Globalisation ? Explain its effects on the 

different sectors of the Indian economy.  

oS’ohdj.k D;k gS \ Hkkjrh; vFkZO;oLFkk ds fofHkUu {ks=ksa ij 

blds izHkko dks le>kb,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the causes of extraordinary growth of service 

sector ? 

lsok {ks= dh vlk/kkj.k izxfr ds dkSu&ls dkj.k gSa \ 

2. Discuss the objectives of World Trade Organisation. 

fo’o O;kikj laxBu ds mís’;ksa dk foospu dhft,A  

3. What do you understand by Swadeshi Ideology ?  

Lons’kh fopkj/kkjk ls vki D;k le>rs gSa \ 

4. Explain the present position of small and cottage 

industries.  

y?kq ,oa dqVhj m|ksx dh orZeku fLFkfr dh O;k[;k dhft,A  

5. What is White Revolution ?  

‘osr ØkfUr D;k gS \ 

6. Explain the reasons of slow progress of rural 

development in India. 

Hkkjr esa xzkeh.k fodkl dh /kheh izxfr ds dkj.k le>kb,A  
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7. What is Foreign Direct Investment ? 

izR;{k fons’kh fofu;ksx D;k gS \ 

8. Explain deficit financing.  

ghukFkZ izcU/ku@?kkVs dh foŸk O;oLFkk dh O;k[;k dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Which of the following is not a cash crop ?  

(a) Jute  

(b) Groundnut  

(c) Jowar  

(d) Sugarcane  

fuEufyf[kr eas ls dkSu&lh udn Qly ugha gS \ 

¼v½ twV 

¼c½ ew¡xQyh  

¼l½ Tokj  

¼n½ xUuk 
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2. Economic development depends on :  

(a) Natural Resource  

(b) Size of Market  

(c) Capital Formation  

(d) All of the above  

vkfFkZd fodkl fuEufyf[kr esa ls fdl ij fuHkZj djrk gS \ 

¼v½ izkd`frd lalk/kuksa  

¼c½ cktkj ds vkdkj  

¼l½ iw¡th fuekZ.k  

¼n½ mi;qZDr lHkh  

3. Fiscal Policy in India is formulated by :   

(a) RBI 

(b) The Finance Ministry  

(c) The Planning Commission  

(d) SEBI 

Hkkjr esa jktdks”kh; uhfr fuEufyf[kr eas ls dkSu cukrk gS \ 

¼v½ vkj- ch- vkbZ- 

¼c½ foŸk eU=ky;  

¼l½ ;kstuk vk;ksx 

¼n½ lsch  

4. When was the NABARD set up ? 

(a) 1975 

(b) 1980 

(c) 1990 

(d) 1982 
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ukckMZ dc LFkkfir gqvk \ 

¼v½ 1975 

¼c½ 1980 

¼l½ 1990 

¼n½ 1982 

5. Which of the following is a Direct Tax ?  

(a) Entertainment Tax 

(b) Excise Duty  

(c) Sales Tax 

(d) Income Tax 

fuEufyf[kr esa ls dkSu&lk izR;{k dj gS \ 

¼v½ euksjatu dj 

¼c½ mRikn dj 

¼l½ fcØh dj 

¼n½ vk;dj 

6. Agricultural Banking College is in :  

(a) Calcutta  

(b) Surat  

(c) Lucknow  

(d) Pune  

d`f”k cSaÇdx dkWyst fuEufyf[kr esa ls dgk¡ ij fLFkr gS \ 

¼v½ dydŸkk 

¼c½ lwjr 

¼l½ y[kuÅ 

¼n½ iwuk 
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7. In Indian economy, the principal means of 

transportation is :  

(a) Airways  

(b) Railways  

(c) Waterways  

(d) Roadways  

Hkkjrh; vFkZO;oLFkk eas ;krk;kr dk eq[; lk/ku gS % 

¼v½ ok;qekxZ 

¼c½ jsyekxZ 

¼l½ tyekxZ 

¼n½ lM+dekxZ 

8. Export and Import Bank of India established in : 

(a) 1986 

(b) 1985 

(c) 1982 

(d) 1990 

vk;kr ,oa fu;kZr cSad vkWQ bf.M;k dh LFkkiuk dc gqbZ \ 

¼v½ 1986 

¼c½ 1985 

¼l½ 1982 

¼n½ 1990 

9. Priority sector includes :  

(a) Agriculture  

(b) Retail Business  

(c) Small Scale Industries  

(d) All of the above  
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izkFkfed {ks= esa fuEufyf[kr esa ls D;k ‘kkfey gS \ 

¼v½ d`f”k 

¼c½ QqVdj O;kikj  

¼l½ y?kq Lrj m|ksx 

¼n½ mi;qZDr lHkh  

10. Which Indian city has the highest population ? 

(a) Kolkata  

(b) New Delhi  

(c) Chennai  

(d) Mumbai  

Hkkjr ds fdl ‘kgj esa vf/kdre tula[;k gS \ 

¼v½ dksydkrk  

¼c½ ubZ fnYyh 

¼l½ psUubZ 

¼n½ eqEcbZ 
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